
Minden háromszögben

r =
2T

a+ b+ c
, R =

ABC

4T
, cosα =

b2 + c2 − a2

2bc
,

sin2
α

2
=

a2 − (b− c)2

4bc
.

Ez értékekre a feltételb®l folyik:

2T

a+ b+ c
=

a(b2 + c2 − a2)(a+ b− c)(a+ c− b

8Tbc
,

azaz

16T 2 =
a(b2 + c2 − a2)

bc
(a+ b + c)(a+ b − c)(a+ c− b).

Ám másrészt

16T 2 = (b+ c− a)(a+ b+ c)(a+ b− c)(a+ c− b).

E két összefüggésb®l ered:

a(b2 + c2 − a2) = bc(b+ c− a),

vagyis

(a− b)(a− c)(a+ b+ c) = 0

s így

(a− b)(a− c) = 0,

a mi 
sak úgy lehetséges, ha vagy a = b, vagy a = c.

(Szabó Károly.)
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